
NP l-4o- Lc \t LA15

itr Fdrst behlvcv vu bcshiwrl{Arr pvtset

czh pvlsct

\ tt:

P"t

Pd

YY'r 
1

yn

p'v ptatfavr-,

fd'r tv ai [t st .v 
,

p kr (*',

t kr /nr

\r

c}r36

vt l.'L kmtvt act 5I kr

P talt-a"us &Y ( a*' 0, 40 . 0, 3 0 m

= O t2wrt

Ty; [isf ct,t s \ ,i yr ga, (2 0, 4 6 +

= t,b4yn

ftt, r i <krztuavts 5$Stcvu et

O, (2p + {,64t = 5q

2-,()4 t = B1

(- E QUA, 
}#,

P = 150

t=L5

F0 v evl

( t-

nV evt tu dlr:t Mrd

2- a r 2-U)

vr alkqtnad en lrLrr Ad

0,06a- A,A 6b - A,()A

Mtrtkmtvrarl B t kr

P La[lavr s rLY (t ' A, 5 0

= C,

Trd'|.,rstcvls \dwXr[ ]

o,4b

. 0r{0 yn

Lavql

0.0.'5 b"7 0,{6)r,n

2,04rn

*l

L 0,36)nn

ut Voefi rri.ut*.f

DA

{

RA

{

o,Lo p

krr at < vl 
$*t , skvlv

(i

at (aVL
avrsl, 

Xtlautc(

L o,0r) (u-

um*cl wraH alt a M r\ vs ev\ ptalFa m u r{

0 6a A,Ab b + 0,0Agb

b Yn behd

)(b.-0,c6)

k')

).tro + (2q* 2b)

a60,03) = (a- o,

= a,b - A,

Vlate

Gb

Iar,rgrtcvr (; *)

(i

16

&t: '[ 5oab +

LV

4ta

(),\b

_LIl
2_

= 15(ool:ttIa++1b+ 0,54


